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Warm-Up Grade 7

Assessment Review

1) Find the answer and show work vy
a) 12.1 + 6.23 b) 5.67 X 2 S.eM
Es+ 12.10 Cs+ x 2
12406 ¥y 6.23 Cx2 1 3y
g 1€ .33 12 ’
2) Calculate the circumference of each circle. C= ‘“cl oc C2wcC

a)lr=4.2m! b) d=24cm

O O

oz, | % g
=2 (W) G2 = (3."")(2'{:'0)
= 2b.Ywm = 5. 36bem
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-T1 =3\
Calculate the circumference of each circle.
Give the answers to two decimal places.

-j) -P-) : : -ﬂ@

C=2mr

C=md
C=md =2x3.14x7cm =3.14 x 15cm
=3.14x10cm =43.96 cm =47.25cm
=31.4cm

<&;>2.
d= % —‘; ‘*‘s(.\. \'&A“’S

@ Calculate the diameter and radius of each circle. C et
Give the answers to two decimal places.
a) 24 cm b) 24m _cl 40 cm
f=24
1
=2Mc
e -
t =ﬁ hlﬂ.m.. el s ‘-I.-...-...-I.rc:.-.. miITF smm b v mm camas -.l: 'j= ...-..-AC._‘
21 21T
r= 24m r= 40cm
2x3.14 2x3.14
r= 24m r= 40cm
6.28 6.28
r= 24m r= 40cm
6.28 6.28
r=0.38m r=6.37 cm
or
38 cm

November 28, 2022



gr 7 u4 circle day 3 circumference day 2 2021.notebook November 28, 2022

- -

__g_. A circular garden has diameter 2.4 m,
3} The garden is to be enclosed with plastic edging. C=.

How much edging is needed?
b) The edging costs $4.53/m.
= What is the cost to edge the garden?

C=md
=3.14x24m
=75.36 m

a)

b) 75.36m x $4.53/m = $341.38

75.36m of edging i ded
m of edging 1S heede The cost of the edge is $341.38.

) c=md d= 5 so if you
_5':_: a) Suppose you double the diameter of a circle.  _ 314x5m double itd =10
What happens to the circumference? — 157 m

b) Suppose you triple the diameter of a circle.

if you double diameter
What happens to the circumference? y

then circumference
Show your work. C=md doubles. Make sense
=3.14 x 10 psince if you muliply

one side by 2 then the
=314 m

other side doubles as
b) If you triple diameter then the circumference will triple. well to keep equality/
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6. A carpenter is making a circular tabletop Re
“with circumference 4.5 m. = H450cem

What is the‘radiugof the tabletop in centimetres?

c\:__c__ USm

=¢c  OR L
o d= .43 m

r= 45m The radius is 72 cm. r:' d - L43
2x3.14 2T 2

= am 'm:. 100cm =072,
6.28 ‘L"‘°°

‘72;,,,

r=0.72m

or

72 cm
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Calculating Circumference of a Circle

&> S
C = 1d C =21r

When we know the radius or diameter of a circle, we can use
one of the formulas above to find the circumference of a circle.

Circumference is a length, so its units are units of length such
as m, cm, or mm.

Remember: 1 cm =10 mm
1Tm=100cm
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Calculate the circumference of a toonie.
Use your calculators BUT show work.

G-'. en
r:\.qm, C_':' 02 LI
- Q . 1Yc
C="7 _ @"“)L ;
° = ‘6‘52 cm

2%-Bem
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Examples:
Find the circumference for each of the following:

(@ (b)
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DiameNer Radius

C‘w cumnSerence

- S -4
@ ) d=2r«¢ S

cC=nd C=2ne ¢
< > d=C_
™
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Calculating Diameter or Radius of a Circle
r=C
27T
When we know the circumference of a circle, we can use one of
the formulas above to find the diameter or radius of a circle.

Remember 1 km = 1000 m
1 km =100 000 cm
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The circumference of each circle is given.
Calculate the diameter and radius. Give the answers to one decimal place.

a) d= b) d = ¢) d=

10 cm 29 ¢m 38 mm

10
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Class / Homework

Quiz on Thursday

Lesson 4.£. vircumrerence o1 4 wircie

1. A circle has diameter 10.5 cm.
Calculate the circumference of the circle to the nearest millimetre.

2. A circle has radius 4.3 mm.
Calculate the circumference of the circle to the nearest millimetre.

3. A circle has circumference 12.6 m.
Calculate the diameter of the circle to the nearest centimetre.

4, SeolEEESoeresmms) find the circumference of a circle with radius 5 cm

11
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Cir <24e, d-°
Cir= ?I'XO(

=314y o
2
Y

12
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